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Iterator iterator = collection.iterator() while (iterator.hasNext()) {
Object o = iterator.next(). if (o instanceof Collection)
messyPrintCollection((Collection)o). else if (0 instanceof String)
System.out.printin("" o.toString() ""). else if (o instanceof Float)
System.out.printin(o.toString() "f*). else
System.out.printin(o.toString()). } 0 0O O 0O ,0 0 0O O O
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Visitor { public void visitCollection(Collection collection). public
void visitString(String string). public void visitFloat(Float float). } [
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